
 

You have £1 to spend. What ice cream can you buy and how much change 
would you get?  

                                                                            

 

 

                                                                                

 

50p 60p 

Change from £1:  Change from £1:  

70p 

Change from £1:  

80p 

Change from £1:  

90p 

Change from £1:  



 

You have 50p to spend. What ice cream can you buy and how much change 
would you get?  

                                                                            

 

 

                                                                                

 

 

10p 15p 

Change from 
50p:  

Change from 
50p:  

20p 

Change from 
50p:  

25p 

Change from 
50p:  

30p 

Change from 
50p:  


